Ill III||IIIIIIIIIIIIIlIIIIIIIIlIIl|||IIII||IIlIlIIl|IIIIIIII|IIIIl|I|IIIIIII|IIIII

Library

o ﬂ Brainware Unwprcxw |
398, Ramkrishnapur = foad, Barasd

%Véh‘?’\ ollata, West Bengal 700125

BRAINWARE UNIVERSITY

Term End Examination 2024-2025
Programme - Dip.CE-2024/ Dip.CSE-2024/Dip.EE-2024/Dip.ME-2024/Dip.RA-2024
Course Name — Mathematics - |
Course Code - DBS00001
( Semester )

Full Marks : 60 Time : 2:30 Hours

[The figure in the margin indicates full marks. Candidates are required to give their answers in their
own words as far as practicable.]

Group-A
(Multiple Choice Type Question) 1x15=15
1. Choose the correct alternative from the following :

(i) 1 2 3
fC=|-3 0 —1|,thenidentify the co-factor of the element 2.
5 -6 7
a) 6 b) -16
c) 14 d) 16

(i) select the value of lllnfia‘

a) o b) 1
1 d)
3 none

iii _
(i) if tan 8=3 then the select the value of €0S28

a) 4 b) 4
LT 3
c) 1 d) 2
3 3
(iv) e :
Select the value of 2sin 30° cos 30°.
a) 1 b) 1
2
c) 8 d) none

2
(v) select the value of sin(x — g) )
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a) sinx b) —sinx
c) cosx d) —cosx

(Vi) Ifsinx = %then select the value of cos x .

a) 2 b) 3
3 2
o) 7 d) 1
ry 2
fvii) Identifythevalueoflg : .
a) 0 b) -1
c) 19 d) none

(vii) Identify the nature of the matrix (z g) ‘

a) adiagonal matrix b) an upper triangular matrix

c) alower triangular matrix d) asymmetric matrix

(ix)
x+3 x+2y 0 7 : . .
= 2 Jr &7 ct I -
If z—1 4t—6 [3 2t] then identify the value of x, y, 2, t are respectively.
a) 3,-2,4,3 b) -3,5,4,3
c) -3,2,4,-3 d) none
) 1 cos60° cos30°
Choose the value of the determinant % sin30° sin60°].
1 0 2
a) 3 b) 1
2 2
c) O d) none

(xi) Choose the nature of the transpose of a square matrix from below options.

a) scaler matrix
c) diagonal matrix

b) square matrix
d) rectangular matrix

(Xi1) " if the difference of the roots of the x2 + px + 8 = 0 be 2 then select the value of p.

a) +4
c) 9

(xiii) If x = acost and y = bsint, then calculate the value of —.

a) écott

a

) = é-cot 7
a

(xiv)

Calculate the value of % (sinx?).

a) cosx®

c) X
cos—

T

b) £10
d) 16
dy
. -
b) @ rainware Universi
3 cotf 398, Ramkrishnapur Road SBr,n-- .
Q) b Knlleata \a'ﬁs‘,pwq:':_’?. :
)% ant T
a
b) cosx
d) 7 cosx®
180
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(xv)

= 3 b
Ify = (-~ 2 cot ) x, then calculate the value of :—f
a) b

—~cott b) a
a ECOt’
c
)‘;;"0” Y 8 ant
a

Group-B

(Short Answer Type Questions)
2. Identify the value of the limit: lim
Rind

3 x5=15
xl-1
VBx=1-vix+1

(3)
3. Identify the value of the limit: lin}(x:‘ +3x+6) G)
iy
4. Identify the area of the triangle with vertices A (1,1,2), B(2,3,5) and C (1,5,5). (3)
: (3)
Show that, tan35° +tan10° + tan 35° tan10° = 1.
6. : (3)
Evaluate the value of . (e*cosx).
OR
d, - . (3)
Evaluate the value of — (x* sinx).
Group-C
(Long Answer Type Questions) 5x6=30
Let, (5)
7.
Inw, i
i el 398, Rami hare Umvers:ty
Ki ik . n:ipm P-G':d SE'QQ“
Olata, West Banzg 2t n
Examine that f(x) is continuous at x=0.

ag12

8. Evaluate the sum of two given vectors i-2j+3k and 3i-2j+k.

(5)
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10.

11.

12.

Show that any square matrix can be uniquely expressed as the sum of a

symmetric and a skew-symmaetric matrix.

If the co-ordinate of two points A and B are (1,6,5) and (-7,5,2) respectively then
identify the value of AB.

Examine the nature of the roots of the equation 3x2—10x+3 =0.

-1 3
¥B=|1 -3
-1 3

value of 6B+C.

-1 3
fB=|1 -3

-1 3
value of B-6C.

5

=5

5

5
5

)andc=(_

—5) andC = (—1

3 3 3 ok 3 3 3 K 3Kk 3 3K oKk ok ok ok K ok ok ok o ok o K ok o ok ok ok K ok ek 9(9

2
1
1

2

1

-2 4

-2 -3

OR
-2 4

-2 -3
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3 4 ), evaluate the

3 4 ), evaluate the

Bl'a

/”‘9’77’(,'

Hy
o, /4’3/3 It //7’7:0, e

(5)

(5)

(5)

(5)

(5)
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